

Activity Sheet 2 – Bric a Brac


1. Draw this brick design:
SLLSLLS


2. For the following brick what is the length of these rows?
[image: ] 
a. SSLLSSLL
b. SLSLSLSL
c. LSLLSLLSLL
d. Make up two different brick rows that are the same length.



3. Vinay and Yvette worked out the length of this pattern:
[image: ]
LSSLLSSLLSSL 



Vinay:  25 +10 +10 +25+25 +10 +10 + 25 +25 + 10 +10 +25 =  ?
Yvette: 3 × (25+10+10+25) =  ?

Will they get the same answer?  What is the answer?



4. With brick dimensions (10cm by 25cm), create a design that is 85cm long and then one that is 35cm longer.


[image: ]5. Look at these two designs: 
                    	
     SLSLSS              SLSLSSL


How much longer is the second design than the first?
Explain your thinking.

6. This wall is 54cm long
[image: ]
a) How long is this wall?
[image: ][image: ]
b) What about this one?
[image: ][image: ]
c) What about this? 
[image: ] 
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